ORNERRIAFEECHLLEN 2-BEERIL, TXXEH

B4 2 BISHHAE L& LT LR RBRE G Y A,
EAS BEEEFEBEA UTAUE
EEXNZFHEE
1 IRADER
E B $EaE (M) BERR
DA 2
(FHRETYERT) 121,000
nme o [WPOEAU R4S FFH &Y
EEERICLDUINAZE 0
Z 0t 0
= it 127,727 | ®
2 ZHDOE
B g 8@ (A) BERR
155 0
BIEERE 0
B (BRAE) NEE
RERXEBE 20,000 | FE 1000x2x1 4 x10 [m]
=20, 000

ECfn & A ENfRI FAFKA 1000 M
36, 958 EEmERER 1 > 1K 4,290+
HEME ’ 2,508=6, 798

NV T L 26,160 M
FBAM S A 300 % 10=3, 000 H

BmE 0
F 5 HIRIE
2,516 F (A4 100 =)
ERB 20,769 | IRE LAR— MENRIE

4,580 1 (A4 100 &)
T E/ERE 13,613 M

#HE 0

WwENE LT (BHREEH)

50. 000 3000 %10 IE]=‘3'O, 000 M ,
ABE ARy 788 (EHHNE
E)1000 A x2 4 x10 @]

=20, 000




Z Dtk 0

& F (BFXH) 127,721 | ©

BADEDGE (@) =XHDFHDEE (@)




